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Note : The question paper has three sections. Attempt questions as per the instruction given in each

section.

SECTION - A

Answer any two of the following questions in about 500 words each :

What is the subject mater and scope of sociology ? 	 20

Discuss the institution of marriage and its various forms ? 	 20

What do you understand by social structure ? Discuss briefly the structuralist view 	 20

Discuss the major approaches to social development in India with suitable illustrations. 	 20
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SECTION - B

Answer any four of the following questions in about 250 words each :

Discuss the various agencies of socialisation with suitable examples ? 	 12

How does mass media relate to gender identity ? Illustrate. 	 12

Discuss the impact of technology on society. 	 12

Compare the consumption patterns of pre-industrial and industrial societies. 	 12

What do you understand by culture ? Illustrate with examples. 	 12

How have modern values influenced rural life in India ? 	 12
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SECTION - C

Answer any two of the following questions in about 100 words each :

Distinguish between folkways and mores.

Explain the significance of potlatch ceremony.

Distinguish between primary and secondary groups.

Distinguish between religion and magic.

6

6

6

6
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